VI. ot

[ & # @& i ]
1. FEEEREOBFIAICONT
2. fRibEE
3. HPIMBXEARICESHEIRROFEESD



1. FHRERROBHAICOWNT % FREREOZEAICOVTOMERYAEEE

1-1 BYUBEFOER FLo HBRBOFERS EEH (%)
(1) FREROFRE 0 0ooooo 13 0 9.200
000000000 410019080 00000000000000000O0O0000O0O0O0OOOOO0
0000000000000 0000000000000000000000000000000000 b ooooooooooonon 82 022600
0000000000 0 oooo 11 0 7700
000000000000 00000000000000000 20080000000000000000 0 googogoo 8 0 5600
0000000000000 00000000000000000000000000000000000 0 000O0OO0Ooooooo 27 019.000
0000000000000 0000000000000000MO0000000000000ooon O Ooo0ooo 70 4900
0000000000000 0000000000000000000O00000 0 00oooo 20 014100
0 ooooooo 24 [116.900
(2) fEFFREE O 0O 14201 100.00 O

gbobooobooboooboboboobobooooooobobooooooboboboboboooboon
gobbboobmobobooooobbobobooooooooobooobboooooboboobooboo

goboboboboboooobobbobobooooobb bbb Dob oD
ggogooobodboooobobobobobooooobobbobooouoobbbobobooboD
gogoboobdbooobobobobobodooooboobbboooooobobobobooooon
godoobobooooooboooo

1-3 FERERFEOFAICONT

(1) FEEREROFIAOELXFL

O00o00ooooooooooooooboooooooobooooooooooooogboooooon
gooooooooooboooooooooooooboooooooooooooooooon

oo0doooooooOgooooooboooooo oo oo oo oo ooDooo oo

O00oo0ooooooooooooooobooooooooboooooobooooooogoboooooon
0000000 mMmO0oboooooooooooooooooooooooooonoooooooonog
oooooooooooom

O0oooooooooooooooooooooooogooooooooooooooobooogoo
O00ooo0oo0oooooboooooo0gooooooogoooooooognooooooooog
gooooooooooboooooobooooooooo

(2) FREEREADEARKE - hEs
U ogn
gogouobobdboboboobobbobobodoooobbn
gooogoboboooboooobobobobooobobobdoiobobobobobo
god
U ogood
doooboboooo
gogoooobodbooobobyo -~ bobouood
U oogooog oo

1-2 FHEEERFEANOHENYRAERR
db210 80 80oboboooboobooobobooooooooobbooooobbooboo
gogoubbobooboooobuobbobobooobobuobuobobobo
U ogogod
oobboooboob 14 b00ooobbobobooobooobboges7rooboboonobooo
gooogoobgo
U obooooooooobooboobooooo
ugoogboboboobooooobbooboboooooobbboooouobooobobooooooD
goooooobbbooogoao

gooobbobooodoobbobobooooboboboboobooo

(3) HEEXEEIC &1 2 FEEREORL
0000000000000000000000000000000000000000000000

o1l



d. bawm

o

-

N

i

R

Al

L

.l"'“.
e =IR
1 1 Kl

e
: e
- —

= ] TN Pl A B e &

FREEEDIIHEE

o2

—ff

AT

L’




TR RS0 PEFE R FE

go3



2. fRhEtE

2—-1 MARMLERROEE
0000000000000000000000000000000000000000000

goododbobbobobooobuobobob ssggubooooo

ggooobobobdobooobobobobooooobbbboboooooobbobbbooo
ugoooooooon

gbbooooobbb 26 b00O00o0bbOOoO0obOo0bODOOobObOo0ooobbObDOobOoOooLDo
googobooboboboooboobbobobooooooobo

gbobbooooooobobooboboooobobbobobobooboobuoboboooboobbobo
gogboboboobooooobbboboooooobbboooouboboboboooon
gooboboboboooboo

ggooobobobdobooobobobobooooobbbboboooooobbobbbooo
gooogooooood

2-2 ENZERTOREDERTS
ggooooooobobooobuobobooboooooobbbboooooooobobbooo
gboboooboobooobobbobobooooobobobobooobobobobobooob
goobobooboboooobobbobobooouobb bbb Dob oD
gbobooobooboooooobobooboboooooboboboboooba

g4




2-3 WHEOBHEEOERY
gogoooboboboboboooobuoboboboboobobbobbobooobooo
ggoooobobobobooobuobobobooooobbbboboooooobobbbooo

gogbobooobooooobbobobooooooubbboooouobobooboboobooooD
googbobobobodobooboboboboooooooo
gobbooooooboboboboooboboboboboboobobbbooooooo
gobbooooooobobobobooobobobobobooboobuobobooobooobobooo
gogooooboo

gos



®
\\ | . ‘ AakEs Tes
A\ ’ - = X | ERABTR  osiom - aKEiE]
" | R 2848nf -+ 4
N B i CHL L R " 855N - AHZHB T
AN \x " 172m - AHZTHIT
. | " 7453ni - - BATREEEE S
S=1 1000 AL ' 1R B S ER 91,802
§=1 2000 A3 ) BitEiR 17.100nf (ZERHER = 91,8020 x15% =13.770.3 miklk)
I\ — I8 E R 4187nf (LELBER = 91.8020 x3% =2754.1 mklk)
- = 1\ BREER 24715 (LEGHEER = 103.130.orrf X20% = 20,6260 miklt)
? . = Bt = 136% (17,1000m  + 91,8020m)
y ARt & u = 24.0% ( 247150m < 103,130.0mi]
,,)" = B *x 689A&LLLE ( 13.770nd x 05& + 10nf =689 KLLE)
v = I 2754ALLE ( 13,770m x 20K + 1omi  =2754 RpLE)
T ' =X 68854LLE (13,770 x 50& = 1onf =6885 ALLL)

\ . RS T HIEREE |- SO RIbEIA
-4 \\\\ , S 3l B BibER B =

B R QG e — o — - i 2t m 3.022

.\ N v ™ o LRt - 3.007 41870 X 3./10 = 1256 mELE
A . Q 58 BB m 2,779

i . . g 5559 x 2.75m = 1.601
a1l T BEEIG nt 1601 30%¥ x 2.50ni :

— ALELAE ot 18,7703 » 1.3 = 4590 MIUTF
- I Erfit m 6,565

= AR AL e s BER . 3 BESLES Ho10mETOER
- | : . |\ I r 7100

- aY i = R - HEYD X REE B S SBEE
— N B Ll e it Enfﬁ 5.02 »

—] S . = ““mmmwwﬁ 1550 B 023

Y B o — BESIL n 1,342 REREES H-10mELEOER
= ki ,: = H N7S = =__< ) ,%M/ Y—F—13\rIL m 839

— f BlE=——=u-% . : it n 2 20BAx120X100 =24 i
z 3 \ T e W e S XL m 387 Faf 2t
Z 1 1 = BT m 7.615
1 i s a ; &t m 24715
3611 ] \ R :7]9 265.3 \

T
e

0o
T

o074
3284 1158 661
1871

o | il )
I II 72
v NNl ‘
Il Ifli

—_—
_——
[ ——

—saq
u
I

2
6. R%LRR’HI

| " I B BeAE

381

EYTE

7 252 370 H=10m

222

T

| BIOE




